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However, gleanings, which is his money - RI7 719797 TnT upb AN

Overview

X239 stated that the case of vp%, where it is his money, is different from °*¥23 012,
which is not his money, therefore by vp% we would think that when it is not in his
MW", he cannot be 7 pon it. Our MdOIN feels that this distinction was not necessary.

mooIn anticipates a difficulty:
= NP NI VPV 22T NON 991D 7298 MN NY

It was not necessary for X2 to say that vp> is 1°7°7 17n, but rather only to say that

by vp» there is no 19D that allows one to be 7°pon (or %rn) something which is not 1mw-2,
as there is by *¥21 075 (and 1w Wwyn) —

mooIN responds:
$MTTIN 9T KD INIP NIIN IDIONT NP NINDINT NNANID NON

Rather it was mentioned only to maximize the difference, that even if there is a
»oD, nevertheless they (0% and *¥27 010) are not similar to each other.

Summary
Occasionally the &3 offers an answer more than is necessary

Thinking it over

When mooin writes X1p XX 120%7,%2 did mooIn mean an actual P05 by vP2, or
perhaps Mo0In meant that there is a w97 from which we can derive vp? from 293
y27?

! This means that even if there would be a P10 that he can be pon (or Ymn) the vpY, it is not similar to *¥27 073 (and
w"yn) for there it is 7123 1 and yet he can be 99 it, however by vp? it is 727 1111, so even though he can be °pon
it, that is only when it is his and 1mw"2. See ‘Thinking it over’.

2 See footnote # 1.
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